gboogoboob200100000

T22a gobbogboobbouoobbouobbuobobobooboooobobooa

o000000DU0UU0ODMIIUUUODOODOOODMOUODDO (LOOOLODL)DOoOoDOoOoOOd
ooog

0000000000000000000O0O0OO0 (00000000000 ) Sunyaev-Zel'dovichOOOOO
gbooboboooboobooobooooooobooboooboooboobooobobooboobooonooo
oooboogoboooooobooooooooobobU keVOOOOooOOOOOODOOOOODDOOOOD
O0000OO00D00OO0O0OD0OO0O000O Sunyaev-Zel’'dovichOOOOOOOOOODOOOODOOOODOOODO
000000000000 (Doo0)o0o00oo0o0UoO0UoO0OU0OO0O0DO0OO0UOOOUDOoOO
gboooboboobooboobobod

goooooooooooooooooooooooooooooooooooooooooooooon
0000000000000 D000O00d000oOooDO photonO0OD0DO0OOOOOOODODOOOOOODOOO
Fokker-Plank 0 0 00 000X0A.00000000000000X = hw/kpTy06. = kpT./mc?0Ty 0 photon
00o007.00000000 (00 )0000Oc0DDO0O0DOOOODODDOOUODOOOODDOOUODODOOODDOO
Od0oodoooooodoouooooooooooooooooooooooooooooonooooooo
O00oo00oo0oooooooooooooooooobooooooooooooooooooooooooo
Oo0oo0ooooooodoooooooouooooooooooon

goooboobobobobobobobobobobobobobobUbobUboboobobob oo
goooooooooooooooooooooooooooooooooooboooooboboooobooooon
gooooooooooooooboooooooooobooooooooboooobooooboobooobOOoLo
gobooobooobooooboooobboboboobobooboboooooboooobobooobooon



